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2] (1) ¥ -6x+9=0%M< L x=3 LoT,
LMD IRTOEH (B
(2) P +8x+16=0%fF & x=-4 Lo,
x=-4 (&)
(3) 222 -3x+2=0D¥IBIX%E D L ¥ 5 &
D=(-3?-4x2%x2=-7<0
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3) (x+2)(x—6)<0 “) 2 —Tx+10>0
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(D (2)

X +4x-1220 ---@ 2x2-5x+2>0 ---Q
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(3] f(x) =32+ (p-2)x+p>—13p+34 £ B<.
f) =021 XD KREVAEE 1 LY/ SWRE L D7D D LM
S <0
L7zh35C
PP —12p+35<0

(p=5p-7<0
L 5<p<T (B
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HETE & AT SR

fO>0---O
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Lk<-1,2<k
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(1] (1) A={1,2,4816) (&)
2) B=1{0,1,2,34 (&)
(3) (-22=4,(-1)*=1,0=04LD,C={0,1,4) (&)

2] (1) A={xlx<-1,2<x} (&)
20 AnB={x|-12x22} (&
3) AUB={x]x <5} )
(4) AUC={x-1<x<3} L&D
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(5) BnC=0 (&)
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[31 1 5 100 T TOBKOESZ U LL, 203b, 2 THYYNLIHOESE A, 3T
HYUYNL2HoEEG% B, 5 THYUYNLZHOEAGE C LT 5.
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4x Bx—-y | 17x—-y

o
b=
—l—,

EMTDH. ZoEEx yIFHRETHY), ZFWIIEATLEVWEHTH .
Tz, &tErs

17x-y=40 ---O©
yrie 0
Thb.
x, yIFARETHD, 12x£40 &)
1<x<3

Hx=120r% OLY
17x—y <40

&7 0 Al
() x=30&x, LD
y=11

oLEQ@ AT ULELD
x=3,y=11

THY, HEREET D> TwbH AL
12x=36 A (&)
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nHIEERE
1) popz 5811, 14, -}, P={3r+2|xu8H x20) &
2) QIREREEZIUNDZIFATRTZEETELR L. (B
0={x|32x25 &

3) R ={-1, 3}, R={x|x2—2x—3=0} &)

[2] -1sx<2 %D,
—2<2x<4 = -3Z2x-1%53
Lo,

B={x|-3<x<3}

LEXEZ NN,

(1 AUB={x| -3<x<5 (&)
2) ANB={x]0sx<3} (&
3) A={x|x<0,5<x} (&

4) B={x|x<-3,3<x} &0,

ANB={x|3<x55 &)
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(31 (») 2 ORHIE, 30-2=15 L1, n(A)=15 (%)
3O, 30-3=10%50, n(B)=10 (&)

2 ANBIEE2OBEHTHY, 30BEHTHLE, 2F0, 6 DEBOEEEZERET NS,
30:6=5%Y
nANB) =5 (&)
ORISR
n(AU B) = n(A) +n(B) —n(AN B) = 15+ 10 - 5 = 20
K- ELTOEMEY), ANB=AUBEMPD,

n(ANB) =n(AUB) = n(U) — n(AU B)

=30-20
=10 &)
(41 (» 3ORHIE, 20023=66---2 £V, n(A) =66 (&)

SOfEHIE, 200-5=40 XY, n(B)=40 (%)
T ORI, 2007 =284 10 n(C)=28 (&)
(2) ANBNCIZ3 L5 ETORER ThbE, 105 DBEHEOEEROT,
200+105=1---95
Lo,
nANBNO) =1 (%)
3) n(ANB), n(BNC), n(CNA) k2. AnB, BNC, CNAZFhZh 15, 35,
21 DREEEDOEER DT,
ANBIX, 200-15=13---5 %9, n(AnB) =13
BNCIE, 200:35=5---25 L0, n(BNC)=5
CNAIX 200:21=9---11 £V, n(CNA)=9
Lo,

n(AUB U C)
=n(A) + n(B) + n(C)
—(mANB) +n(BNC)+n(CNA)+nANBNC)
=66+40+28-(13+5+9)+ 1
=108 (%)
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